
�

�









P = f ! N ! AW



P" = f#S# (A ! $)

$

$

A = 10%&P P# ! A

P" = f#S# (A ! $)

$



$

A = 10%&P# ! A

P'* = +f,-S-. ! A



A = 10%&P,- ! A

P'* = +f,-S-. ! A

A = 10%&P,- ! A



P/2 = f/2 ! N/2 ! A ! F(x)/2

345676 exp(8049:;|<|)<

A = 10%&P/2 ! A





R = >? @B?
RC [m] SC [D6]



? E = 1BG tan%H + DIG6 8 1. JDB K(L 8 :G)GILM tan%H O>L(G 8 1)M(G J 1)Q 8 1G tan%H O>(G 8 1)(G J 1)QT
m = UV X Y? Z n = \V ? Z A = (1 J G)6 JD6? Z M = (1 8 G)6 JD6

? EC [8] ^C [m] RC [m] _C [m]

` = bc Ed bc



g = hiVj×kt l Ro q r



s = s3 J :`Iugv w 1IB y<z{8 <6}ug~ 8 <:Iug y�c� + <:Iug.�
�3 dx t�� r
$ �$ = �����
�

E

50

2

2

2

2

1

2

1







s = s3 J �:̀�

T0



s = s3 J `g +B���: J B��6} .
������ J ����� �(��6 8 ��6)B�} J :B��6} y�

�3 d t�3 ��� e�� ���l �����



E

T0







` = bc Ed bc

E = 1BG tan%H + DIG6 8 1. JDB K(L 8 :G)GILM tan%H O>L(G 8 1)M(G J 1)Q 8 1G tan%H O>(G 8 1)(G J 1)QT
m = UV ? Z n = \V ? Z A = (1 J G)6 JD6? Z M = (1 8 G)6 JD6

^� R _



s = s3 J ` × L�� × ��� �3d A�  ��







F-15



E = 1BG tan%H + DIG6 8 1. JDB K(L 8 :G)GILM tan%H O>L(G 8 1)M(G J 1)Q 8 1G tan%H O>(G 8 1)(G J 1)QT
m = UV ? Z n = \V ? Z A = (1 J G)6 JD6? Z M = (1 8 G)6 JD6

^� R _

` = bc Ed bc



r�� ¡�¡¢ = ¡¡£ ¤v ¡�¡£¥
� x t��� r

s = s3 J ¦§6¨s3 d ©�?

s = s3 J `g +B���: J B��6} .
������ J ����� �(��6 8 ��6)B�} J :B��6} y�

�3 d t�3 ��� e�� ���l ? �����



s = s3 J ` × L�� × ��� �3d A�  ��


